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DISTANCE TIME AND SPEED

1. A persons croses a 600 m long street in 5

minutes. What is his speed in km per hour?


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_VrMZKx9L7zMH

° Watch Video Solution

2. A truck covers a distance of 550 metres in 1
minute whereas a bus covers a distance of 33
km in 45 minutes. What is the ratio of their

speeds.

o Watch Video Solution

3. A man walks at a speed of 4 km/hr and runs

at a speed of 8 km/hr. How much time will the


https://dl.doubtnut.com/l/_VrMZKx9L7zMH
https://dl.doubtnut.com/l/_M68ki8ZBB8UD
https://dl.doubtnut.com/l/_TBZgHWAhfkVB

man require to cover a distance of 24 km if he
completes half of his journey walking and half

running?

o Watch Video Solution

4. In a 800 metre race, A defeated B by 15

seconds. If A’s speed was 8 km/hr, the speed

16
of B was fkm/hr (b) ﬂkm/hr (c)

16
17 17

° Watch Video Solution



https://dl.doubtnut.com/l/_TBZgHWAhfkVB
https://dl.doubtnut.com/l/_RtbtnqbVynQS
https://dl.doubtnut.com/l/_viw3AtCxmYDa

5. A scooterist completes a certain journey in
10 hours. He covers half the distance at 30
km/hr and the rest at 70 km/hr . What is the

total distance of the journey?

° Watch Video Solution

6. A persons pedals from his house to his
office at a speed of 1 km/hour and returns by
the same route at a speed of x5 km/hour.

What is his average speed?

l ° Watch Video Solution


https://dl.doubtnut.com/l/_viw3AtCxmYDa
https://dl.doubtnut.com/l/_ln0vQcQzh5c2

7. A man can reach a certain place in 30 hours.
1

If the reduces his speed by1—5th he goes 10

km less in that time. Find his speed. 4 km / hr

1
b.5km /hr c.5§km/h'r d.6km / hr

° Watch Video Solution

8. A tractor is moving with a speed of 20
km/hour , x km ahead of a truch moving with a

speed of 35 km/hour . If it takes 20 minutes for


https://dl.doubtnut.com/l/_ln0vQcQzh5c2
https://dl.doubtnut.com/l/_OL0KojW7uUVC
https://dl.doubtnut.com/l/_sKfqEGIvz9bv

a truck to overtake the tractor , then what is x

equal to?

° Watch Video Solution

9. A train running between two stations A and
B arrives at its destinations 10 minutes late
when its speed is 50 km/hour and 50 minutes
late when its speed is 30 km/hr. How far is

station A from B?

° Watch Video Solution



https://dl.doubtnut.com/l/_sKfqEGIvz9bv
https://dl.doubtnut.com/l/_YVZb5Spd1tSk
https://dl.doubtnut.com/l/_r4Y2lCS0aY2g

10. A person drives his car for 3 hours at a
speed of 40 km/hr and for 4.5 hour at a speed
of 60 km/hr. At the end of it he find that he
has covered % of the total distance. What is
the uniform speed with which he should
further drive to cover the remaining distance

in 4 hours?

o Watch Video Solution

11. Walking at three - fourth of his usual speed

, @ man covers a certain distance in 2 hour


https://dl.doubtnut.com/l/_r4Y2lCS0aY2g
https://dl.doubtnut.com/l/_sGDjhaGOByiT

more than the time he takes to cover the
distance at his usual speed. What is the time
taken by him to cover the same distance with

his usual speed?

o Watch Video Solution

12. A students rides on a bicycle at 8 km/ hr
and reaches his school 2.5 minutes late. The
next day he increases his speed to 10 km/hr
and reaches the school 5 minutes early. How

far is the school from his house?

| e |


https://dl.doubtnut.com/l/_sGDjhaGOByiT
https://dl.doubtnut.com/l/_BIVBFUZ1QxxW

& watch Video Solution I

13. A train 156 m long passes a telegraph pole
in 13 seconds find the speed of the train in

km/hr.

° Watch Video Solution

14. A train takes 9 seconds to cross a pole. If
the speed of the train is 60 Km/h, the length

of the train is

l ° Watch Video Solution


https://dl.doubtnut.com/l/_BIVBFUZ1QxxW
https://dl.doubtnut.com/l/_VRZlC190H4iE
https://dl.doubtnut.com/l/_HN7HYu70zTXn

15. A goods train runs at a speed of 72 km/hr
and across a 250 m long platform in 26
seconds . What is the length of the goods

train?

° Watch Video Solution

16. A 264 m long train moves past an electric
pole in 20 seconds. What is the speed of the

train in km/hr?



https://dl.doubtnut.com/l/_HN7HYu70zTXn
https://dl.doubtnut.com/l/_0AoLB7PS0xtP
https://dl.doubtnut.com/l/_SlvTaBK87JR4

Watch Video Solution

17. The length of a train and that of a platform
are equal . If with the speed of 54 km/hr , the
train crosses the platform in 15 minutes
then what is the length of the platform in

metres?

o Watch Video Solution

Question Bank 14 A


https://dl.doubtnut.com/l/_SlvTaBK87JR4
https://dl.doubtnut.com/l/_7qOEjkwQ6cbl
https://dl.doubtnut.com/l/_Le9mxbcjNsAf

1. A car moves with a speed of 80 km/hr . What

is the speed of the car in metres per second?

2
A. 22§m/sec

m
B.8—
sec

1 m
C.20— —
9 sec

2 m
D.3———
83 sec

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_Le9mxbcjNsAf

2. A man covers first half of its journey at 12

km/hr and the rest at 4 km/hr. His average

speed is

A. 3 km/hr

B. 6 km/hr.

C.4.5 km/hr

D. 9 km/hr

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_gudaoV7pmHYq

3. The speeds of A and B are in the ratio 3:4. A

takes 20 minutes more than B to reach a

destination. In what time does A reach the
o 1

destination. 1§hours b. 1—hours c. 2 hours

3

2
d. 2§hours

1
A. 1§ hours

B. 2 hours

C12h
.13 hours

3

Answer: A


https://dl.doubtnut.com/l/_UHjCknr7XnKD

° Watch Video Solution

4. Two trains approach each other at 30 km/hr
and 27 km/hr from two places 342 km apart.

After how many hours do they meet?
A. 5 hours
B. 6 hours
2
C.1—hours

3

D22h
.27 hours

Answer: B


https://dl.doubtnut.com/l/_UHjCknr7XnKD
https://dl.doubtnut.com/l/_O1fg7II9gK4S

° Watch Video Solution

5. A runs 100 metres in 11 seconds and B runs

100 metres in 12 seconds. The head start which

must be given to B for race to be completed in

11 seconds.

A.8m

B.8

C.8

D.8

N = W~ ]
3


https://dl.doubtnut.com/l/_O1fg7II9gK4S
https://dl.doubtnut.com/l/_Li40C4g6E5SB

Answer: C

o Watch Video Solution

6. A man can walk uphill at the rate of 25
km/hr and downhill at the rate of 3% km/hr. If
the total time required to walk a certain
distance up the hill and return to the starting
point was 4 hr 36 min, then what was the

distance walked up the hill by the man? 4 km

b41k 51k: d61k
-Agkmc.55kmd. 65 km


https://dl.doubtnut.com/l/_Li40C4g6E5SB
https://dl.doubtnut.com/l/_AsGY1HuKFqDO

A. 6— km

B.5— km

C.4— km

D. 4 km

Answer: A

o Watch Video Solution

7. A person wishes to reach his destination 90
km away in three hours but for the first half of

the journey his speed was 20 km/hr. His


https://dl.doubtnut.com/l/_AsGY1HuKFqDO
https://dl.doubtnut.com/l/_oxXcINJdj2yZ

average speed for the rest of the journey

should be

A. 40 km/hour

B. 0.75 km/min

C. 1 km/min

D. 65 km/hour

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_oxXcINJdj2yZ

8. A car travels a distance of 45 km at a speed
of 15 km/hr. It covers the next 50 km of its
journey at the speed of 25 km/hr and the last
25 km of its journey at the speed of 15 km/hr.
What is the average speed of the car?

A. 40 km/hr

B. 24 km/hr

C.15 km/hr

D. 18 km/hr

Answer: D


https://dl.doubtnut.com/l/_xlXG17IihYjC

° Watch Video Solution

9. A car travels a distance of 45 km at a speed
of 15 km/hr. It covers the next 50 km of its
journey at the speed of 25 km/hr and the last
25 km of its journey at the speed of 15 km/hr.

What is the average speed of the car?

A. 50 km

B. 40 km

C.30 km


https://dl.doubtnut.com/l/_xlXG17IihYjC
https://dl.doubtnut.com/l/_kkmC2FT7N56x

D. 60 km

Answer: C

° Watch Video Solution

10. A car travelling with of 7its usual speed
covers 42 km in 1 hour 40 min 48 sec. What is
the usual speed of the car?

6
A. 177km/hr

B.25km / hr


https://dl.doubtnut.com/l/_kkmC2FT7N56x
https://dl.doubtnut.com/l/_6K1jjE33eAOW

C.30km / hr

D.35km / hr

Answer: D

o Watch Video Solution

11. A car can finish a certain journey in 10 hours
at the speed of 48 km//hourBy how much
should its speed be increased so that it may

take only 8 hours to cover the same distance ?


https://dl.doubtnut.com/l/_6K1jjE33eAOW
https://dl.doubtnut.com/l/_U99JP4CZq1QX

A. 6 km/hour

B. 7.5 km/hour

C. 12 km/hour

D. 15 km/hr

Answer: C

o Watch Video Solution

12. Excluding stoppages, the speed of a train is

45 km/hr and including stoppages it is 36


https://dl.doubtnut.com/l/_U99JP4CZq1QX
https://dl.doubtnut.com/l/_yKDBNGqiw7vW

km/hr. For how many minutes does the train

stop per hour?

A.10

B.12

C.15

D. 18

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_yKDBNGqiw7vW

13. A locomotive driver travelling at 72 km/hr
finds a signal 210 metres ahead of him
indicating that he should stop. He instantly
applies brakes to stop the train. The train
retards uniformly and stops 10 metres before
the signal post. What time did he take to stop

the train?

A. 5 seconds

B. 10 seconds

C. 15 seconds


https://dl.doubtnut.com/l/_iJWJhwRQymH5

D. 20 seconds

Answer: B

° Watch Video Solution

14. A runs twice as fast as B and B runs thrice
as fast as C. The distance covered by C in 72
minutes, will be covered by A in 12m & utes
b. 16 m € utes ¢ 18m € utes d.

24 m € utes

A. 18 min


https://dl.doubtnut.com/l/_iJWJhwRQymH5
https://dl.doubtnut.com/l/_RuHvimnVdEsI

B. 24 min

C. 16 min

D. 12 min

Answer: D

o Watch Video Solution

15. A car runs at a speed of 40 km/hr when not
serviced and runs at 60 km/hr when serviced.
After servicing the car covers a certain

distance in 5 hours. How much time will the


https://dl.doubtnut.com/l/_RuHvimnVdEsI
https://dl.doubtnut.com/l/_0hcl6TlB7nYC

car take to cover the same distance when not

serviced?

A. 8 hours

B. 7.5 hour

C. 6 hours

D. 7 hours

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_0hcl6TlB7nYC

16. A train starts from Agra to Mathura at a
speed of 60 km/hr and reaches there in 45
min. If on return its speed is reduced by 10%,
how long will it take to reach Agra from
Mathura?

A.1hr

B. 50 min

C.1hr 20 min

D. 49 min

Answer: B


https://dl.doubtnut.com/l/_J7OBRswoEFTE

o Watch Video Solution

17. Samir drove at the speed of 45 km/hr from
home to a resort. Returning over the same
route he got stuck in traffic and took an hour
longer. Also he could drive only at the speed of
40 km/hr. How many kilometres did he drive

each way?

A. 250 km

B.360 km

C. 310 km


https://dl.doubtnut.com/l/_J7OBRswoEFTE
https://dl.doubtnut.com/l/_fOiShVQQsQoX

D. 275 km

Answer: B

° Watch Video Solution

18. A certain distance is covered at acertain

speed. If half of the distance is covered in

double time, the ratio of the two speeds is

A4:1

B.1:4


https://dl.doubtnut.com/l/_fOiShVQQsQoX
https://dl.doubtnut.com/l/_sfUMGXCjFv2p

C.2:1

D.1:2

Answer: A

o Watch Video Solution

19. Paschini Express left Delhi for Mumbai at
14.30 hrs travelling at a speed of 60 kmph and
August Kranti Express left Delhi for Mumbai
on the same day at 16.30 hrs travelling at a

speed of 80 kmph. How far away from Delhi


https://dl.doubtnut.com/l/_sfUMGXCjFv2p
https://dl.doubtnut.com/l/_H1m8NLyBTm14

will  the two trains meet (excluding

stoppages)? 120 km b. 360 km c. 480 km d.

500 km

A. 120 km
B. 360 km
C. 480 km

D. 500 km

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_H1m8NLyBTm14
https://dl.doubtnut.com/l/_lmu5TZrcyimV

20. A and B start simultaneously from a certain
point in North and South directions on
motorcycles. The speed of A is 80 km/hr and
that of B is 65 km/hr. What is the distance
between A and B after 12 minutes?

A.14.5 km

B. 29km

C. 36.2km

D. 39km

Answer: B

[ 1


https://dl.doubtnut.com/l/_lmu5TZrcyimV

I O Watch Video Solution

21. The distance between Bandel and Asansol
is 100 km. A leaves Bandel for Asansol and
walks at the rate of 3 km/hr. 3 hrs later, B
starts from Asansol for Bandel and walks at 3.5
km/hr. Find the distance from Asansol where

they would meet?

A. 51 km

B. 49 km

C. 53 km


https://dl.doubtnut.com/l/_lmu5TZrcyimV
https://dl.doubtnut.com/l/_bWr3DZkkb0to

D. 52 km

Answer: B

o Watch Video Solution

22. A star is 8.1 x 10" km away from the
earth. Suppose light travels at the speed of
3. 0 x 10° km per second. How long will it take
the light from the star to reach the earth?
7.5 x 10%hours b. 7.5 x 10* hours c

2.7 x 10'° seconds d. 2. 7 x 10 seconds


https://dl.doubtnut.com/l/_bWr3DZkkb0to
https://dl.doubtnut.com/l/_noFbhbz5VFWO

A. 7.5 x 10%hrs.

B.7.5 x 10* hrs.

C. 2.7 x 10"%m

D. 2.7 x 10™ sec.

Answer: B

o Watch Video Solution

23. A takes 2 hours more than B to walk d km,
but /it A doubles his speed, then he can make

it in hour less than B. How much time does B


https://dl.doubtnut.com/l/_noFbhbz5VFWO
https://dl.doubtnut.com/l/_aTRAtV7y4A38

d

require for walking d km? Ehours b.

3 hours c. 4 hours d. %hours

d
A. 3 hours

B. 3 hours
C. 4 hours

D % hours
"3

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_aTRAtV7y4A38

24. A boy is running at a speed of p kmph to
cover a distance of 1 km. but ,m due to the
slippery ground, his speed is reduced by g
kmph (p > q) . if he takes r hours to cover the
distance then l =p—q b. r=p—q c

"
1
—~=ptqdr=p+tgq

Aézﬁp—Q
B.r = (p—q)
C%=@+®

D.7 = (p+4q)


https://dl.doubtnut.com/l/_4bMKY9OHQXHz

Answer: A

o Watch Video Solution

25. A walks at a uniform rate of 4 km an hour;
and 4 hours after his start, B bicycles after him
at the uniform rate of 10 km an hour. How far

from the starting point will B catch A?

16. 7Tkm b.18. 6 km c.21. 5 km d. 26. 7 km

A 16.7km

B. 18.6km


https://dl.doubtnut.com/l/_4bMKY9OHQXHz
https://dl.doubtnut.com/l/_8eRKHTIbHezZ

C.21.5km

D. 26.7km

Answer: D

o Watch Video Solution

26. An express train travelled at a average
speed of 100 kmph stopping for 3 minutes
after 75 km. a local train travelled at a speed of
50 kmph, stopping for 1 minute after every 25

km. if the trains began travelling at the same


https://dl.doubtnut.com/l/_8eRKHTIbHezZ
https://dl.doubtnut.com/l/_QQdLjC41o6fA

time, how many kilometres did the locals train
travelling the tie it took the express train to
travel 600 km? 287.5km b. 307.5km c.
325 km d. 396 km

A. 6 hrs 21 min

B. 6 hrs 24 min

C.6 hrs 27 min

D. 6 hrs 30 min

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_QQdLjC41o6fA

27. Two trains start form stations A and B and
travel towards each other at a speed of 50
kmph and 60 kmph respectively. A the time of
their meeting, the second train had travelled
120 km more than the first. The distance
between A and B is 600 km b. 1440 km c.

1320km d. 1660 km

A. 990 km

B. 1200 km

C. 1320 km


https://dl.doubtnut.com/l/_QQdLjC41o6fA
https://dl.doubtnut.com/l/_WI1Ta5Ferr3G

D. 1440 km

Answer: C

° Watch Video Solution

28. In a kilometre race, A beats B by 30
seconds and B beats C by 15 seconds. If A
beats C by 180 m, the time taken by A to run 1
kilometre, is (a) 200 sec (b) 205 sec (c) 210 sec

(d) 250 sec

A. 250 seconds


https://dl.doubtnut.com/l/_WI1Ta5Ferr3G
https://dl.doubtnut.com/l/_1A3YDUig2omn

B. 205 seconds

C. 200 seconds

D. 210 seconds

Answer: B

o Watch Video Solution

29. A man takes 6 hours 30 min in going by a
cycle and coming back by scooter. He would

have lost 2 hours 10 min by going on cycle


https://dl.doubtnut.com/l/_1A3YDUig2omn
https://dl.doubtnut.com/l/_pUSodJhajHmF

both ways. How long would it take him to go
by scooter both ways?
A.2 hrs
B 41 h
A5 hrs
1
C.3— hrs

3

D51h
-ozhrs

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_pUSodJhajHmF

30. A students rides on a bicycle at 8 km/hr
and reaches his school 2.5 minutes late, The
next day he-increases the speed to 10 km/hr
and reaches school 5 minutes early. How far is
the school from the house?

A. 6 km

B. 4 km

C.5 km

D. 4.5 km

Answer: C


https://dl.doubtnut.com/l/_nLS9BuLyh5mx

° Watch Video Solution

Question Bank 14 B

1. A 180 - metre long train crosses a man

standing on the platform in 6 seconds. What is

the speed of the train?

A. 90 km/hr

B. 108 km/hr

C. 120 km/hr


https://dl.doubtnut.com/l/_nLS9BuLyh5mx
https://dl.doubtnut.com/l/_jzuMgerPqLsT

D. 88 km/hr

Answer: B

° Watch Video Solution

2. A train running at a speed of 84 km/hour
crosses an electric pole in 9 seconds. What is
the length of the train in metres?

A.126

B. 630


https://dl.doubtnut.com/l/_jzuMgerPqLsT
https://dl.doubtnut.com/l/_rItVtpRiZpXR

C. 210

D.70

Answer: C

o Watch Video Solution

3. A train 110 m long takes three seconds to
pass a standing man. How long is the platform
if the train passes through it in 15 seconds

moving with the same speed?


https://dl.doubtnut.com/l/_rItVtpRiZpXR
https://dl.doubtnut.com/l/_U1F4B02fZpze

A.440 m

B.400 m

C.550m

D.450 m

Answer: C

o Watch Video Solution

4. A train speeding at 120 km/hr crosses an
electric pole in 9 seconds and a platform in 24

seconds. What is the length of the platform?


https://dl.doubtnut.com/l/_U1F4B02fZpze
https://dl.doubtnut.com/l/_B92VjkxdQN6D

A.500 m

B.800 m

C.300m

D. 1100 m

Answer: A

o Watch Video Solution

5. A train passes a pole in 15 seconds and a
platform 100m long in 25 seconds. Then find

the length of the train.


https://dl.doubtnut.com/l/_B92VjkxdQN6D
https://dl.doubtnut.com/l/_xlMu7THtoHKn

A. 125 m

B.135m

C.150 m

D.1/5m

Answer: C

o Watch Video Solution

6. A train passes a platform 90 m long in 30
seconds and a man standing on the platform

in 15 second. The speed of the train is a.


https://dl.doubtnut.com/l/_xlMu7THtoHKn
https://dl.doubtnut.com/l/_r6psXSIOYHyA

12.4km /hr b. 14.6 km /hr c. 18. 4 km [/ hr
d.121.6 km /hr

A.12.4 km/hr

B. 14.6 km/hr

C.18.4 km/hr

D. 21.6 km/hr

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_r6psXSIOYHyA

7. Sabarmati express takes 18 seconds to pass
completely through a station 162 m long and
15 seconds through another station 120 m
long. The length of the Sabarmati express is :
A.70
B. 80

C.90

D. 105

Answer: C

I ° Wiak hh \tAAaA CAaliikianm



https://dl.doubtnut.com/l/_kohQrPzU2qZr

YVCILLIL VI IVAGINIE L )

8. A train, 150 m long, takes 30 seconds to

cross ' bridge 500 m long. How much time will

the train, take to cross a platform 370 m long?

18 secb. 24 sec c. 30 sec d. 36 sec

A. 36 sec

B. 30 sec

C. 24 sec

D. 18 sec


https://dl.doubtnut.com/l/_kohQrPzU2qZr
https://dl.doubtnut.com/l/_P67M1RnWu2Ch

Answer: C

o Watch Video Solution

9. A 120 metre long train is running at a speed
of 90 k/her. It will cross a railway platform 230
4

m long in 4gseconds b. 7seconds c.

Qgseconds d. 14 seconds
A. 43 seconds

B. 93 seconds

C.7 seconds


https://dl.doubtnut.com/l/_P67M1RnWu2Ch
https://dl.doubtnut.com/l/_FvXawoU1DQ81

D. 14 seconds

Answer: D

° Watch Video Solution

10. A passenger train runs at the rate of 80
kmph. It starts from the station, 6 hours after
a goods train leaves the station. The
passenger train overtakes the goods train

after 4 hours. The speed of goods train is


https://dl.doubtnut.com/l/_FvXawoU1DQ81
https://dl.doubtnut.com/l/_1sqa76eoWhQq

32km/hr b. 45km /hr c. 64km/hr d.
50 km / hr

A. 48 km/hr

B. 60 km/hr

C.32 km/hr

D. 80 kmm/hr

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_1sqa76eoWhQq

11. A train X starts from a place at a speed of
50 km/hr. After one hour, another train Y
starts from the same place at a speed of 70

km/hr. After how much time will Y cross X?

A. 3 hrs
B.2— hrs
C.3—hrs

D.2— hrs

Answer: C

I ° Wiadk hh \tAAaA CAaliikianm



https://dl.doubtnut.com/l/_GqN5bZE7bGM3

YVOILLIL VI IVAGINIE L )

12. A man in a train notices that he can count
21 telephone posts in one minute. If they are
known to be 50 metres apart, then at what
speed is the train travelling? 55 km /hr b.
60 km /hr c.57 km /hr d. 63 km [ hr

A. 57 km/hr

B. 60 km/hr

C. 63 km/hr.

D. 55 km/hr


https://dl.doubtnut.com/l/_GqN5bZE7bGM3
https://dl.doubtnut.com/l/_Q88gTlOPlCrx

Answer: B

o Watch Video Solution

13. The distance of the sun from the earth is
one hundred forty million four hundred
thousand kilometers and light travels from the
former to the latter in 7 minutes and fifty
eight seconds. The velocity of light per second

IS :

A.3 x 10°km /sec


https://dl.doubtnut.com/l/_Q88gTlOPlCrx
https://dl.doubtnut.com/l/_3kH7tezpwhNl

B.0.3 x 10°km /sec
C. 30 x 10° km/sec

D. None of these

Answer: A

o Watch Video Solution

14. A man covered a distance of 2000 km in 18
hours partly by bus at 72 km/hr and partly by
train at 160 km/hr. The distance covered by

bus is


https://dl.doubtnut.com/l/_3kH7tezpwhNl
https://dl.doubtnut.com/l/_jw1ddVoRviX0

A. 860 km

B. 640 km

C. 1280 km

D. 720 km

Answer: D

o Watch Video Solution

15. A man takes 4 h 20 minutes in walking to a

certain place and riding back. If he walk on


https://dl.doubtnut.com/l/_jw1ddVoRviX0
https://dl.doubtnut.com/l/_2DjNS1pHnFWz

both sides he loses 1 h. The time he would take

by riding both ways is :

A.3 h 20 min

B.2 h 20 min

C.4 h 20 min

D.1h 20 min

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_2DjNS1pHnFWz

16. A car covers 4 successive 3 km stretches at
speeds of 10 km/hr, 20 km/hr, 30 km/hr and 60
km/hr respectively. The average speed of the
car for the entire journey is

A. 15 km/hr

B. 35 km/hr

C. 20 km/hr

D. 25 km/hr

Answer: C

I ° Wiak hh \tAAA CAaliikianm



https://dl.doubtnut.com/l/_3wdTvyaHFreo
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5
17. Moving at 8 of its usual speed, a train is 10
minutes late. Its usual time to cover the
journey is:
A. 40 min
B. 50 min

C.35 min

D. 55 min

Answer: B

| s


https://dl.doubtnut.com/l/_3wdTvyaHFreo
https://dl.doubtnut.com/l/_0mbJPgw4mMav

| ¥ View Text Solution

18. If a train runs at 40 kmph, it reaches its
destination late by 11 minutes but if it runs at
50 kmph, it is late by 5 minutes only. The
correct time for the train to complete its
journey is 13m € b.15m € ¢ 19m € d.

21m €

A. 13 min

B. 15 min

C. 19 min


https://dl.doubtnut.com/l/_0mbJPgw4mMav
https://dl.doubtnut.com/l/_qDOTWVJ36F9i

D. 21 min

Answer: C

° Watch Video Solution

19. The distance between two cities A and B is
330 km . A train starts from A at 8 a.m. travels
towards B at 60km/hr .

Another train starts from B at 9 a.m. and
travels towards A at 75 km/hr . At what time

do they meet ?


https://dl.doubtnut.com/l/_qDOTWVJ36F9i
https://dl.doubtnut.com/l/_u1hi1IhVdHGF

A. 10 a.m.

B.10.30 a.m.

C.11 a.m.

D.11.30 a.m.

Answer: C

o Watch Video Solution

20. A train passes a station platform in 36
second, a man standing on the platform in 20

seconds. it speed of the train is 54 km / hr,


https://dl.doubtnut.com/l/_u1hi1IhVdHGF
https://dl.doubtnut.com/l/_6vzHLzmw2JAD

what is the of the platform? 225 m b. 240 m c.

230m d. 235 m

A.120 m

B.240 m

C.300 m

D. None of these

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_6vzHLzmw2JAD

21. A motor car starts with a speed of 70 km/hr
with its speed increasing every two hours by
10 km/hr. In how many hours will it cover 345
kms?
A. 2 . h
4
B.4 . h
2
C.4h5 min

D. Can not be determined

Answer: B

I ° Wiak hh \tAAaA CAaliikianm



https://dl.doubtnut.com/l/_F0VWZPI4OqJs
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22. A person sets to cover a distance of 12 km

in 45 minutes. If he covers ZOf the distance in

Erd time, what should be his speed to cover

the remaining distance in the remaining time?

A. 16 km/hr

B.8 km /hr

C.12 km/hr

D. 14 km/hr


https://dl.doubtnut.com/l/_F0VWZPI4OqJs
https://dl.doubtnut.com/l/_syLGp8z5Kvfa

Answer: C

o View Text Solution

Self Assessment Sheet 14

1. The distance of the sun from the earth is

one hundred forty million four hundred
thousand kilometers and light travels from the
former to the latter in 7 minutes and fifty
eight seconds. The velocity of light per second

IS :


https://dl.doubtnut.com/l/_syLGp8z5Kvfa
https://dl.doubtnut.com/l/_mMxu9gI0VTAK

A. 3 x 10° km/sec
B.0.3 x 10°km /sec
C.30 x 10° km/sec

D. None of these

Answer: A

o Watch Video Solution

2. A man covered a distance of 2000 km in 18

hours partly by bus at 72 km/hr and partly by


https://dl.doubtnut.com/l/_mMxu9gI0VTAK
https://dl.doubtnut.com/l/_VT609haFeM1p

train at 160 km/hr. The distance covered by

bus is

A. 860 km

B. 640 km

C. 1280 km

D. 720 km

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_VT609haFeM1p

3. A man takes 4 h 20 minutes in walking to a
certain place and riding back. If he walk on
both sides he loses 1 h. The time he would take
by riding both ways is :

A.3 h 20 min

B.2 h 20 min

C.4 h 20 min

D.1h 20 min

Answer: A

‘ ° Wiak hh \tAAaA CAaliikianm



https://dl.doubtnut.com/l/_PNMK388y0AXN
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4. A car covers 4 successive 3 km stretches at
speeds of 10 km/hr, 20 km/hr, 30 km/hr and 60
km/hr respectively. The average speed of the
car for the entire journey is

A. 15 km/hr

B. 35 km/hr

C. 20 km/hr

D. 25 km/hr


https://dl.doubtnut.com/l/_PNMK388y0AXN
https://dl.doubtnut.com/l/_ew0bkUu7d8GJ

Answer: C

o Watch Video Solution

5
5. Moving at 5 of its usual speed, a train is 10

minutes "late. Its usual time to cover the
joumey is:

A. 40 min

B. 50 min

C.35 min

D. 55 min


https://dl.doubtnut.com/l/_ew0bkUu7d8GJ
https://dl.doubtnut.com/l/_j3hLTgbJvInq

Answer: B

o Watch Video Solution

6. If a train runs at 40 kmph, it reaches its
destination late by 11 minutes but if it runs at
50 kmph, it is late by 5 minutes only. The
correct time for the train to complete its
journey is 13m € b.15m € ¢ 19m € d.

21m €

A. 13 min


https://dl.doubtnut.com/l/_j3hLTgbJvInq
https://dl.doubtnut.com/l/_vjR6D05v9vDq

B. 15 min

C. 19 min

D. 21 min

Answer: C

o Watch Video Solution

7. The distance between two cities A and B is
330 km . A train starts from A at 8 a.m. travels
towards B at 60km/hr .

Another train starts from B at 9 a.m. and


https://dl.doubtnut.com/l/_vjR6D05v9vDq
https://dl.doubtnut.com/l/_SDOKFlFTVFwF

travels towards A at 75 km/hr . At what time

do they meet ?

A. 10 a.m.

B.10.30 a.m.

C.11.a.m.

D.11.30 a.m.

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_SDOKFlFTVFwF

8. A train passes a station platform in 36
second, a man standing on the platform in 20
seconds. it speed of the train is 54 km / hr,
what is the of the platform? 225 m b. 240 m c.

230 m d. 235 m

A. 120 m
B.240 m
C.300m

D. None of these

Answer: B


https://dl.doubtnut.com/l/_6GZl26YW7TOO

° Watch Video Solution

9. A motor car starts with a speed of 70 km/hr
with its speed increasing every two hours by
10 km/hr. In how many hours will it cover 345
kms?
A 2 . h
4
B.4 . h
2
C.4hA5 min

D. None of these


https://dl.doubtnut.com/l/_6GZl26YW7TOO
https://dl.doubtnut.com/l/_ScbJVSzDFw84

Answer: B

o Watch Video Solution

10. A persons sets to cover a distance of 12 km
in 45 minutes. If he covers Zth of the distance
L2 .

in grd time. What should be his speed to

cover the remaining distance in the remaining

time?

A. 16 km/hr

B.8 km /hr


https://dl.doubtnut.com/l/_ScbJVSzDFw84
https://dl.doubtnut.com/l/_wmOdUgONSPPY

C.12 km/hr

D. 14 km/hr

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_wmOdUgONSPPY

